Critical Chain Assignment

1)
What kind of a business Genemodem is in?

a)
What is the product development time?

b)
How long is the product's life cycle?
c) What is the challenge the company is facing right now?

2)
How does Rick define Projects?
3)
Talk about the channel tunnel project.
4)
Malaysian project:

a) What are the “external” factors for project failure?

b) What are the “internal” factors for project failure?

c) What are the “real” reasons for failure?

5)
How should we deal with uncertainty in product development projects?

a)
What does Rick mean by saying (page 46) “When we compare the time indicated by the median to the time you indicated as a reasonable estimate, it does not look like the safety you added is in the range of twenty percent.”

6)
Do you agree with the statement on page 62 “Whole intention of a project is not to save money but to make money.”

7)
In a class discussion in chapter 9 why students think that starting non-critical. path at the earliest or the latest times are risky?
8)
When we monitor the progress of the project we usually do not differentiate work done on critical path. What implications this might have?
9)
“Most of the local improvements do not contribute to the global,” explain with an example.

10)
“The only way to achieve good cost performance is through good local performance everywhere.”

11)
When safety is added to the projects five plus five equals thirteen rule applies. Explain.

12)
If a step is finished 2 days earlier what happens to the start of the successor step?

13) We put a lot of safety to our projects, but we are still late. Why?

14)
“Multi-tasking is the biggest killer of lead time” explain with an example.

15)
What is the equivalent of a bottleneck in the projects?

16)
Where should we put the safety on a critical path?

17)
What is his suggestion about locating time buffers?

18)
If there are delays in the non-critical paths how can we protect delays in project completion time?

19)
Do you agree that the progress of a project can be determined by only focusing on the critical path?

20)
How does Mark use resource buffer in the modem project?

21)
What would you do if you realize that one of the non-critical paths is so late that it is consuming the project buffer (has already consumed the feeding buffer)?

22)
Would your critical path change every week/month?

23)
By looking at the diagram on page 214 how do you define critical chain? What are the differences between critical path and critical chain?

24)
Give an example where critical chain is the same as critical path.

